BID TABULATIONS

Contract No:DH00235

County:Randolph

Replacement of Bridge #175 over Mill Creek on SR 2614 (Grantville Ln.)

Bid Opening Date: 4/25/2017 at 2:00 PM

				Mauntain Cras	di Contro et ene. In e	Amala Tuole (P. Associates Tes	Dana Can	otmotion Inc	Lama Thomas	o Castino Inc
ITEM N	ІТЕМ	QUANTITY	UNITS	UNIT PRICE	ek Contractors, Inc. AMOUNT BID		& Associates, Inc. AMOUNT BID	UNIT PRICE	struction, Inc. AMOUNT BID	UNIT PRICE	as Grading, Inc. AMOUNT BID
1	MOBILIZATION	1	LS	\$43,000.00	\$43,000.00	\$37,000.00	\$37,000.00	\$46,695.00	\$46,695.00	\$47,000.00	\$47,000.00
2	GRADING	1	LS	\$140,000.00	\$140,000.00	\$165,000.00	\$165,000.00	\$178,000.00	\$178,000.00	\$214,000.00	\$214,000.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$800.00	\$800.00	\$100.00	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00
4	DRAINAGE DITCH EXCAVATION	320	CY	\$15.25	\$4,880.00	\$12.00	\$3,840.00	\$4.40	\$1,408.00	\$4.40	\$1,408.00
5	GEOTEXTILE FOR SOIL STABILIZATION	700	SY	\$2.00	\$1,400.00	\$2.00	\$1,400.00	\$2.00	\$1,400.00	\$2.00	\$1,400.00
6	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$50.00	\$500.00	\$20.00	\$200.00	\$20.00	\$200.00	\$21.00	\$210.00
7	FOUNDATION CONDITIONING GEOTEXTILE	10	SY	\$10.00	\$100.00	\$2.00	\$20.00	\$2.00	\$20.00	\$3.00	\$30.00
8	15" DRAINAGE PIPE	24	LF	\$65.00	\$1,560.00	\$38.00	\$912.00	\$38.00	\$912.00	\$41.00	\$984.00
9	PIPE REMOVAL	22	LF	\$10.00	\$220.00	\$12.00	\$264.00	\$12.00	\$264.00	\$15.00	\$330.00
10	INCIDENTAL STONE BASE	15	TON	\$45.00	\$675.00	\$17.50	\$262.50	\$35.00	\$525.00	\$35.00	\$525.00
11	INCIDENTAL MILLING	510	SY	\$16.50	\$8,415.00	\$16.50	\$8,415.00	\$16.50	\$8,415.00	\$6.00	\$3,060.00
12	ASPHALT CONCRETE BASE COURSE, TYPE B25.0B	550	TON	\$68.00	\$37,400.00	\$68.00	\$37,400.00	\$68.00	\$37,400.00	\$90.00	\$49,500.00
13	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 119.0B	325	TON	\$70.00	\$22,750.00	\$70.00	\$22,750.00	\$70.00	\$22,750.00	\$90.00	\$29,250.00
14	ASPHALT CONCRETE SURFACE COURSE, TYPE SF9.5A	300	TON	\$84.00	\$25,200.00	\$84.00	\$25,200.00	\$84.00	\$25,200.00	\$97.00	\$29,100.00
15	ASPHALT BINDER FOR PLANT MIX	60	TON	\$450.00	\$27,000.00	\$450.00	\$27,000.00	\$450.00	\$27,000.00	\$430.00	\$25,800.00
16	RIGHT OF WAY MARKERS	9	EA	\$475.00	\$4,275.00	\$200.00	\$1,800.00	\$215.00	\$1,935.00	\$250.00	\$2,250.00
17	STEEL BEAM GUARDRAIL	550	LF	\$19.00	\$10,450.00	\$23.64	\$13,002.00	\$19.00	\$10,450.00	\$20.00	\$11,000.00
18	ADDITIONAL GUARDRAIL POSTS	5	EA	\$11.00	\$55.00	\$11.00	\$55.00	\$11.00	\$55.00	\$12.00	\$60.00
19	GUARDRAIL ANCHOR UNITS, TYPE 350	4	EA	\$2,000.00	\$8,000.00	\$1,800.00	\$7,200.00	\$2,000.00	\$8,000.00	\$2,200.00	\$8,800.00
20	RIP RAP, CLASS II	65	TON	\$55.00	\$3,575.00	\$50.00	\$3,250.00	\$38.00	\$2,470.00	\$38.00	\$2,470.00
21	RIP RAP, CLASS B	150	TON	\$40.00	\$6,000.00	\$40.00	\$6,000.00	\$38.00	\$5,700.00	\$38.00	\$5,700.00
22	GEOTEXTILE FOR DRAINAGE	700	SY	\$3.00	\$2,100.00	\$2.00	\$1,400.00	\$2.00	\$1,400.00	\$2.00	\$1,400.00
23	TEMP TRAFFIC CONTROL	1	LS	\$15,000.00	\$15,000.00	\$4,700.00	\$4,700.00	\$4,700.00	\$4,700.00	\$10,000.00	\$10,000.00
24	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90MILS)	1,460	LF	\$1.90	\$2,774.00	\$1.98	\$2,890.80	\$1.15	\$1,679.00	\$1.25	\$1,825.00
25	THERMOPLASTIC PAVEMENT MARKING LINES (4", 120MILS)	1,460	LF	\$2.00	\$2,920.00	\$2.08	\$3,036.80	\$1.25	\$1,825.00	\$1.35	\$1,971.00
26	PERMANENT RASIED PAVEMENT MARKERS	10	EA	\$15.00	\$150.00	\$12.50	\$125.00	\$15.00	\$150.00	\$18.00	\$180.00
27	TEMPORARY SILT FENCE	1,445	LF	\$2.10	\$3,034.50	\$3.00	\$4,335.00	\$1.25	\$1,806.25	\$1.25	\$1,806.25
28	STONE FOR EROSION CONTROL, CLASS A	65.0	TON	\$40.00	\$2,600.00	\$22.00	\$1,430.00	\$17.00	\$1,105.00	\$17.00	\$1,105.00
29	STONE FOR EROSION CONTROL, CLASS B	615	TON	\$40.00	\$24,600.00	\$40.00	\$24,600.00	\$17.00	\$10,455.00	\$17.00	\$10,455.00

bid_Tab Page 1 of 4

			Mountain Creek Contractors, Inc.		Apple Tuck & Associates, Inc.		Dane Construction, Inc.		Lynn Thomas Grading, Inc.		
ITEM NO	TTEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID		AMOUNT BID
30	SEDIMENT CONTROL STONE	320.00	TON	\$40.00	\$12,800.00	\$35.00	\$11,200.00	\$17.00	\$5,440.00	\$17.00	\$5,440.00
31	TEMPORARY MULCHING	2	ACR	\$600.00	\$900.00	\$1,100.00	\$1,650.00	\$1,000.00	\$1,500.00	\$1,000.00	\$1,500.00
32	SEED FOR TEMPORARY SEEDING	200	LB	\$3.00	\$600.00	\$1.00	\$200.00	\$2.30	\$460.00	\$2.30	\$460.00
33	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$1,200.00	\$1,200.00	\$100.00	\$100.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
34	TEMPORARY SLOPE DRAINS	200	LF	\$5.00	\$1,000.00	\$4.00	\$800.00	\$4.00	\$800.00	\$4.00	\$800.00
35	SAFETY FENCE	200	LF	\$1.86	\$372.00	\$3.00	\$600.00	\$2.00	\$400.00	\$2.00	\$400.00
36	SILT EXCAVATION	500	CY	\$10.50	\$5,250.00	\$10.00	\$5,000.00	\$3.40	\$1,700.00	\$3.40	\$1,700.00
37	MATTING FOR EROSION CONTROL	6,715	SY	\$1.20	\$8,058.00	\$2.00	\$13,430.00	\$1.00	\$6,715.00	\$1.00	\$6,715.00
38	COIR FIBER MAT	100	SY	\$3.85	\$385.00	\$5.50	\$550.00	\$4.00	\$400.00	\$4.00	\$400.00
39	1/4" HARDWARE CLOTH	225.00	LF	\$4.10	\$922.50	\$4.00	\$900.00	\$2.00	\$450.00	\$2.00	\$450.00
40	SPECIAL STILLING BASINS	6	EA	\$375.00	\$2,250.00	\$300.00	\$1,800.00	\$475.00	\$2,850.00	\$1,000.00	\$6,000.00
41	POLYACRYLAMIDE (PAM)	95	LB	\$9.00	\$855.00	\$10.00	\$950.00	\$8.00	\$760.00	\$8.00	\$760.00
42	COIR FIBER BAFFLE	20.0	LF	\$5.10	\$102.00	\$16.00	\$320.00	\$9.00	\$180.00	\$9.00	\$180.00
43	SEEDING & MULCHING	3	ACR	\$2,625.00	\$7,875.00	\$1,800.00	\$5,400.00	\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.00
44	MOWING	3.00	ACR	\$100.00	\$300.00	\$50.00	\$150.00	\$75.00	\$225.00	\$75.00	\$225.00
45	SEED FOR REPAIR SEEDING	50.00	LB	\$10.00	\$500.00	\$1.00	\$50.00	\$2.30	\$115.00	\$2.30	\$115.00
46	FERTILIZER FOR REPAIR SEEDING	0	TON	\$1,200.00	\$300.00	\$1,850.00	\$462.50	\$2,000.00	\$500.00	\$2,000.00	\$500.00
47	SEED FOR SUPPLEMENTAL SEEDING	50.00	LB	\$4.10	\$205.00	\$1.00	\$50.00	\$2.30	\$115.00	\$2.30	\$115.00
48	FERTILIZER TOPDRESSING	1	TON	\$825.00	\$1,031.25	\$1,850.00	\$2,312.50	\$1,000.00	\$1,250.00	\$1,000.00	\$1,250.00
49	IMPERVIOUS DIKE	320	LF	\$35.00	\$11,200.00	\$30.00	\$9,600.00	\$10.00	\$3,200.00	\$50.00	\$16,000.00
50	SPECIALIZED HAND MOWING	10	MHR	\$75.00	\$750.00	\$20.00	\$200.00	\$18.00	\$180.00	\$18.00	\$180.00
51	RESPONSE FOR EROSION CONTROL	13.00	EA	\$500.00	\$6,500.00	\$300.00	\$3,900.00	\$1.00	\$13.00	\$1.00	\$13.00
52	CULVERT DIVERSION CHANNEL	611	CY	\$15.00	\$9,165.00	\$30.00	\$18,330.00	\$9.00	\$5,499.00	\$15.00	\$9,165.00
53	GENERIC EROSION CONTROL ITEM, CONCRETE WASHOUT STRUC	2.0	EA	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00	\$1,375.00	\$2,750.00	\$435.00	\$870.00
54	REMOVAL OF EXISTING STRUCTURE AT STATION 15+73 00 -L-	1.0	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$44,605.00	\$44,605.00	\$15,000.00	\$15,000.00
55	CULVERT EXCAVATION, STATION 15+73.00 -L-	1.0	LS	\$75,000.00	\$75,000.00	\$55,000.00	\$55,000.00	\$64,585.00	\$64,585.00	\$25,000.00	\$25,000.00
56	FOUNDATION CONDITIONING MATERIAL, BOX CULVERT	265.0	TON	\$50.00	\$13,250.00	\$50.00	\$13,250.00	\$37.75	\$10,003.75	\$45.00	\$11,925.00
57	CLASS A CONCRETE (CULVERT)	489.0	CY	\$420.00	\$205,380.00	\$480.00	\$234,720.00	\$590.00	\$288,510.00	\$575.00	\$281,175.00
58	REINFORCING STEEL (CULVERT)	65,173	LB	\$1.00	\$65,173.00	\$1.20	\$78,207.60	\$1.10	\$71,690.30	\$1.30	\$84,724.90
59	PLACEMENT OF NATURAL STREAM BED MATERIAL	1	LS	\$3,500.00	\$3,500.00	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00
60	GENERIC STRUCTURE ITEM, ASBESTOS ASSESSMENT	1	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
				l.	\$865,857.25		\$900,720.70		\$933,916.30	<u> </u>	\$947,783.15

Bidder No. 1: Mountain Creek Contractors, Inc.

Bidder No. 2: Apple Tuck & Associates, Inc.

Bidder No. 3: Dane Construction, Inc.

Bidder No. 4: Lynn Thomas Grading, Inc.

Bidder No. 5: Wright Contracting, LLC

Bidder No. 6: Country Boy Landscping, Inc.

bid_Tab Page 2 of 4

BID TABULATIONS

Contract No:DH00235

County:Randolph

Replacement of Bridge #175 over Mill Creek on SR 2614 (Grantville Ln.)

Bid Opening Date: 4/25/2017 at 2:00 PM

				Wright Co	ntracting, LLC	Country Boy	Landscping, Inc.
ITEM NO	ІТЕМ	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1	LS	\$48,395.00	\$48,395.00	\$100,028.33	\$100,028.33
2	GRADING	1	LS	\$256,005.29	\$256,005.29	\$155,000.00	\$155,000.00
3	SUPPLEMENTARY CLEARING & GRUBBING	1	ACR	\$1.00	\$1.00	\$0.01	\$0.01
4	DRAINAGE DITCH EXCAVATION	320	CY	\$10.15	\$3,248.00	\$0.01	\$3.20
5	GEOTEXTILE FOR SOIL STABILIZATION	700	SY	\$1.50	\$1,050.00	\$2.25	\$1,575.00
6	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	10	TON	\$35.00	\$350.00	\$33.00	\$330.00
7	FOUNDATION CONDITIONING GEOTEXTILE	10	SY	\$1.50	\$15.00	\$4.50	\$45.00
8	15" DRAINAGE PIPE	24	LF	\$17.00	\$408.00	\$50.00	\$1,200.00
9	PIPE REMOVAL	22	LF	\$10.00	\$220.00	\$10.00	\$220.00
10	INCIDENTAL STONE BASE	15	TON	\$23.00	\$345.00	\$50.00	\$750.00
11	INCIDENTAL MILLING	510	SY	\$16.50	\$8,415.00	\$16.50	\$8,415.00
12	ASPHALT CONCRETE BASE COURSE, TYPE B25.0B	550	TON	\$68.00	\$37,400.00	\$68.00	\$37,400.00
13	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 119.0B	325	TON	\$70.00	\$22,750.00	\$70.00	\$22,750.00
14	ASPHALT CONCRETE SURFACE COURSE, TYPE SF9.5A	300	TON	\$84.00	\$25,200.00	\$84.00	\$25,200.00
15	ASPHALT BINDER FOR PLANT MIX	60	TON	\$450.00	\$27,000.00	\$450.00	\$27,000.00
16	RIGHT OF WAY MARKERS	9	EA	\$200.00	\$1,800.00	\$250.00	\$2,250.00
17	STEEL BEAM GUARDRAIL	550	LF	\$14.75	\$8,112.50	\$19.00	\$10,450.00
18	ADDITIONAL GUARDRAIL POSTS	5	EA	\$10.00	\$50.00	\$11.00	\$55.00
19	GUARDRAIL ANCHOR UNITS, TYPE 350	4	EA	\$1,985.00	\$7,940.00	\$2,000.00	\$8,000.00
20	RIP RAP, CLASS II	65	TON	\$45.00	\$2,925.00	\$75.00	\$4,875.00
21	RIP RAP, CLASS B	150	TON	\$35.00	\$5,250.00	\$40.00	\$6,000.00
22	GEOTEXTILE FOR DRAINAGE	700	SY	\$1.00	\$700.00	\$2.25	\$1,575.00
23	TEMP TRAFFIC CONTROL	1	LS	\$3,615.00	\$3,615.00	\$5,068.12	\$5,068.12
24	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90MILS)	1,460	LF	\$3.25	\$4,745.00	\$1.15	\$1,679.00
25	THERMOPLASTIC PAVEMENT MARKING LINES (4", 120MILS)	1,460	LF	\$3.25	\$4,745.00	\$1.25	\$1,825.00
26	PERMANENT RASIED PAVEMENT MARKERS	10	EA	\$12.50	\$125.00	\$15.00	\$150.00
27	TEMPORARY SILT FENCE	1,445	LF	\$2.10	\$3,034.50	\$0.01	\$14.45
28	STONE FOR EROSION CONTROL, CLASS A	65.0	TON	\$35.00	\$2,275.00	\$0.01	\$0.65
29	STONE FOR EROSION CONTROL, CLASS B	615	TON	\$35.00	\$21,525.00	\$0.01	\$6.15

bid_Tab Page 3 of 4

				Wright Co	ntracting, LLC	racting, LLC Country Boy I	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
30	SEDIMENT CONTROL STONE	320.00	TON	\$28.00	\$8,960.00	\$0.01	\$3.20
31	TEMPORARY MULCHING	2	ACR	\$600.00	\$900.00	\$0.10	\$0.15
32	SEED FOR TEMPORARY SEEDING	200	LB	\$3.00	\$600.00	\$0.01	\$2.00
33	FERTILIZER FOR TEMPORARY SEEDING	1	TON	\$1,200.00	\$1,200.00	\$0.01	\$0.01
34	TEMPORARY SLOPE DRAINS	200	LF	\$7.50	\$1,500.00	\$0.01	\$2.00
35	SAFETY FENCE	200	LF	\$1.86	\$372.00	\$0.01	\$2.00
36	SILT EXCAVATION	500	CY	\$1.00	\$500.00	\$0.01	\$5.00
37	MATTING FOR EROSION CONTROL	6,715	SY	\$1.20	\$8,058.00	\$0.01	\$67.15
38	COIR FIBER MAT	100	SY	\$1.50	\$150.00	\$0.01	\$1.00
39	1/4" HARDWARE CLOTH	225.00	LF	\$4.10	\$922.50	\$0.01	\$2.25
40	SPECIAL STILLING BASINS	6	EA	\$150.00	\$900.00	\$0.01	\$0.06
41	POLYACRYLAMIDE (PAM)	95	LB	\$6.00	\$570.00	\$0.01	\$0.95
42	COIR FIBER BAFFLE	20.0	LF	\$5.10	\$102.00	\$0.01	\$0.20
43	SEEDING & MULCHING	3	ACR	\$2,625.00	\$7,875.00	\$1,350.00	\$4,050.00
44	MOWING	3.00	ACR	\$1.00	\$3.00	\$0.01	\$0.03
45	SEED FOR REPAIR SEEDING	50.00	LB	\$0.01	\$0.50	\$0.01	\$0.50
46	FERTILIZER FOR REPAIR SEEDING	0	TON	\$1.00	\$0.25	\$1.00	\$0.25
47	SEED FOR SUPPLEMENTAL SEEDING	50.00	LB	\$0.01	\$0.50	\$2.00	\$100.00
48	FERTILIZER TOPDRESSING	1	TON	\$600.00	\$750.00	\$2,000.00	\$2,500.00
49	IMPERVIOUS DIKE	320	LF	\$25.00	\$8,000.00	\$40.00	\$12,800.00
50	SPECIALIZED HAND MOWING	10	MHR	\$1.00	\$10.00	\$0.01	\$0.10
51	RESPONSE FOR EROSION CONTROL	13.00	EA	\$0.01	\$0.13	\$0.01	\$0.13
52	CULVERT DIVERSION CHANNEL	611	CY	\$5.45	\$3,329.95	\$35.00	\$21,385.00
53	GENERIC EROSION CONTROL ITEM, CONCRETE WASHOUT STRUC	2.0	EA	\$750.00	\$1,500.00	\$0.01	\$0.02
54	REMOVAL OF EXISTING STRUCTURE AT STATION 15+73 00 -L-	1.0	LS	\$54,721.00	\$54,721.00	\$100,000.00	\$100,000.00
55	CULVERT EXCAVATION, STATION 15+73.00 -L-	1.0	LS	\$32,000.00	\$32,000.00	\$72,500.00	\$72,500.00
56	FOUNDATION CONDITIONING MATERIAL, BOX CULVERT	265.0	TON	\$35.00	\$9,275.00	\$45.00	\$11,925.00
57	CLASS A CONCRETE (CULVERT)	489.0	CY	\$692.00	\$338,388.00	\$885.00	\$432,765.00
58	REINFORCING STEEL (CULVERT)	65,173	LB	\$1.06	\$69,083.38	\$1.10	\$71,690.30
59	PLACEMENT OF NATURAL STREAM BED MATERIAL	1	LS	\$13,190.00	\$13,190.00	\$6,000.00	\$6,000.00
60	GENERIC STRUCTURE ITEM, ASBESTOS ASSESSMENT	1	LS	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00
		_			\$1,061,505.50		\$1,158,917.21

\$1,061,505.50 \$1,158,917.21

Bidder No. 1: Mountain Creek Contractors, Inc.

Bidder No. 2: Apple Tuck & Associates, Inc.

Bidder No. 3: Dane Construction, Inc.

Bidder No. 4: Lynn Thomas Grading, Inc.

Bidder No. 5: Wright Contracting, LLC

Bidder No. 6: Country Boy Landscping, Inc.

bid_Tab Page 4 of 4